



## PREDICTORS OF PROLONGED INTENSIVE CARE UNIT STAY AFTER MAJOR NEUROSURGICAL PROCEDURES

### Article History:

#### Name of Author:

Baynazir Khan<sup>1</sup>, Fatima Khan<sup>2</sup>, Abdul Mannan<sup>3</sup>, Abdul Aziz Khan<sup>4</sup>, Gul Mohammad<sup>5</sup>

**Affiliation:** <sup>1</sup>Assistant Professor Neurosurgery Ayub Teaching Hospital MTI Abbottabad

<sup>2</sup>Consultant medical specialist Ayub Teaching Hospital MTI Abbottabad

<sup>3</sup>SPR Neurosurgery Ayub Teaching Hospital MTI Abbottabad.

<sup>4</sup>Professor neurosurgery Ayub Teaching Hospital MTI Abbottabad

<sup>5</sup>Consultant neurosurgeon Ayub Teaching Hospital MTI Abbottabad

#### Corresponding Author:

Dr. Baynazir Khan.

Email: hallianfjite@yahoo.com

**Received:** 03-09-2025

**Revised:** 28-09-2025

**Accepted:** 11-10-2025

**Published:** 25-10-2025

This is an open access journal, and articles are distributed under the terms of the Creative Commons Attribution-Noncommercial-Share Alike 4.0 License, which allows others to remix, tweak, and build upon the work non-commercially, as long as appropriate credit is given and the new creations are licensed under the identical terms.

**Abstract:** Background: Major neurosurgical procedures often require postoperative intensive care unit (ICU) admission for neurological monitoring and organ support. Prolonged ICU stay is associated with increased morbidity, healthcare costs, and limited ICU bed availability. Identifying factors associated with extended ICU admission may improve perioperative planning and optimize resource utilization. **Objective:** To determine the clinical and perioperative predictors of prolonged ICU stay among patients undergoing major neurosurgical procedures. **Methods:** A retrospective study was conducted on 100 patients who underwent major neurosurgical procedures at a tertiary care hospital between January 2024 and June 2024. Demographic, clinical, operative, and postoperative data were retrieved from medical records. Prolonged ICU stay was defined as an admission exceeding 72 hours. Variables including age, sex, Glasgow Coma Scale (GCS), American Society of Anesthesiologists (ASA) status, emergency surgery, operative duration, intraoperative blood loss, postoperative mechanical ventilation, and complications were analyzed using univariate and multivariate logistic regression. Statistical analysis was performed using SPSS version 27.0, with a p-value <0.05 considered statistically significant. **Results:** The 100 patients, 58% were male and 42% were female, with a mean age of  $49.8 \pm 15.6$  years. Prolonged ICU stay occurred in 36 patients (36%). Patients with prolonged ICU stay were significantly older than those with shorter stays ( $56.3 \pm 14.2$  vs.  $46.1 \pm 15.3$  years;  $p=0.003$ ). Emergency surgery (61.1% vs. 31.3%;  $p=0.006$ ), preoperative GCS  $\leq 8$  (50.0% vs. 18.8%;  $p=0.001$ ), operative duration >4 hours ( $p=0.012$ ), blood loss >500 mL ( $p=0.021$ ), postoperative mechanical ventilation >24 hours ( $p<0.001$ ), and postoperative complications ( $p=0.004$ ) were significantly associated with prolonged ICU stay. Multivariate analysis identified postoperative mechanical ventilation (adjusted OR=4.72, 95% CI: 2.01–11.08;  $p<0.001$ ), low preoperative GCS (adjusted OR=3.15, 95% CI: 1.34–7.42;  $p=0.008$ ), and advanced age (adjusted OR=1.04, 95% CI: 1.01–1.08;  $p=0.018$ ) as independent predictors. **Conclusion:** Advanced age, poor preoperative neurological status, prolonged postoperative mechanical ventilation, emergency surgery, increased operative duration, and postoperative complications independently predicted prolonged ICU stay following major neurosurgical procedures. Early recognition of these risk factors may facilitate risk stratification, optimize ICU resource allocation, and improve postoperative outcomes.

**Keywords:** Neurosurgery; Intensive Care Unit; Predictors; Length of Stay.

## INTRODUCTION

Major neurosurgical procedures, including craniotomy for intracranial tumors, traumatic brain injury, aneurysm clipping, intracerebral hematoma

evacuation, and complex cervical surgeries, are frequently associated with significant postoperative physiological disturbances that necessitate admission to the intensive care unit (ICU). Postoperative ICU

care allows continuous neurological assessment, mechanical ventilation when required, hemodynamic monitoring, intracranial pressure management, and prompt intervention for life-threatening complications. Although ICU admission following major neurosurgical procedures has become standard practice in many tertiary care centers, prolonged ICU stay remains a substantial clinical and economic challenge. Extended ICU hospitalization is associated with increased healthcare expenditure, higher rates of nosocomial infections, prolonged mechanical ventilation, delayed rehabilitation, and increased mortality [1,2]. The duration of ICU stay is influenced by multiple patient-related, disease-related, and perioperative factors. Advanced age has consistently been associated with delayed recovery due to reduced physiological reserve and increased prevalence of chronic medical comorbidities. Similarly, poor neurological status at admission, commonly assessed using the Glasgow Coma Scale (GCS), has been identified as an important determinant of postoperative recovery and ICU utilization. Patients presenting with severe neurological impairment often require prolonged ventilatory support and intensive monitoring, thereby increasing ICU length of stay [3]. Surgical factors also play a significant role in determining postoperative ICU requirements. Emergency neurosurgical procedures are generally performed in critically ill patients with traumatic brain injury, intracranial hemorrhage, or acute hydrocephalus due to meningitis and are associated with greater perioperative instability than elective procedures. Longer operative duration and increased intraoperative blood loss may reflect technically complex surgery and contribute to postoperative hemodynamic instability, increased transfusion requirements, and delayed recovery. Likewise, prolonged postoperative mechanical ventilation is both a marker of severe neurological dysfunction and an independent contributor to extended ICU admission [4,5]. Postoperative complications such as ventilator-associated pneumonia, surgical site infection, sepsis, electrolyte disturbances, and thromboembolic events further prolong ICU stay and adversely affect patient outcomes. Early recognition of patients at increased risk of prolonged ICU admission enables clinicians to implement preventive strategies, optimize perioperative care, improve resource allocation, and reduce healthcare costs. In resource-limited healthcare systems, efficient utilization of ICU beds is particularly important because unnecessary occupancy may delay admission of critically ill patients requiring intensive care [6,7]. Several international studies have investigated predictors of prolonged ICU stay following neurosurgical procedures; however, reported predictors vary depending on patient population, surgical complexity, institutional practices, and ICU discharge policies. Moreover, limited evidence is

available from developing countries where healthcare resources differ substantially from those of high-income nations. Understanding local determinants of prolonged ICU stay is essential for developing institution-specific risk prediction models and improving postoperative care pathways [8]. This retrospective cohort study was therefore conducted to identify clinical, operative, and postoperative predictors associated with prolonged ICU stay among patients undergoing major neurosurgical procedures at a tertiary care hospital. Identifying these predictors may facilitate early risk stratification, improve perioperative decision-making, optimize ICU resource utilization, and ultimately enhance patient outcomes while reducing hospital costs [9].

### Study Objective

To determine the demographic, clinical, operative, and postoperative predictors associated with prolonged intensive care unit stay following major neurosurgical procedures.

## MATERIALS AND METHODS

### Study Design and Setting

A retrospective cohort study was conducted at the Department of Neurosurgery Ayub Teaching Hospital MTI Abbottabad between January 2024 and December 2023. after institutional ethical approval.

### Participants

A total of 100 consecutive adult patients undergoing major neurosurgical procedures requiring postoperative ICU admission were included. Data were retrieved from electronic medical records and operative notes. Patients were followed until ICU discharge. Demographic characteristics, clinical findings, perioperative variables, and postoperative outcomes were recorded using a standardized data collection form.

### Sample Size Calculation

The sample size of 100 patients was determined using the WHO sample size calculator with a 95% confidence level, 5% margin of error, and an anticipated prevalence of prolonged ICU stay of approximately 35%, while accounting for incomplete medical records.

### Inclusion Criteria

- Patients aged  $\geq 18$  years.
- Undergoing major cranial or spinal neurosurgical procedures.
- Postoperative ICU admission.
- Complete clinical and operative records.
- ICU stay is documented until discharge.

### Exclusion Criteria

- Minor neurosurgical procedures.
- Pediatric patients (<18 years).
- Patients were transferred from another institution after surgery.
- ICU readmission during the same hospitalization.
- Incomplete medical records or missing outcome data.

### Diagnostic and Management Strategy

All patients underwent standardized preoperative clinical assessment, neuroimaging, laboratory investigations, anesthesia evaluation, and postoperative ICU monitoring. Surgical and postoperative management followed institutional neurosurgical protocols, including neurological

assessment, ventilatory support, hemodynamic optimization, infection prevention, and early rehabilitation.

### Statistical Analysis

Data were analyzed using SPSS version 27.0. Continuous variables were expressed as mean  $\pm$  standard deviation, whereas categorical variables were presented as frequencies and percentages. Comparisons were performed using Student's t-test and Chi-square test. Multivariate logistic regression identified independent predictors of prolonged ICU stay. A p-value <0.05 was considered statistically significant.

## RESULT

A total of 100 patients underwent major neurosurgical procedures during the study period. The mean age was  $49.8 \pm 15.6$  years, and 58 (58%) were male. Thirty-six patients (36%) experienced prolonged ICU stay (>72 hours), whereas 64 (64%) were discharged within 72 hours. Patients with prolonged ICU admission were significantly older than those with shorter ICU stays ( $56.3 \pm 14.2$  vs.  $46.1 \pm 15.3$  years;  $p=0.003$ ). Emergency surgery was significantly more common among patients with prolonged ICU stay (61.1% vs. 31.3%;  $p=0.006$ ). Preoperative GCS  $\leq 8$  occurred in 50.0% of prolonged-stay patients compared with 18.8% of controls ( $p=0.001$ ). Operative duration exceeding four hours ( $p=0.012$ ), intraoperative blood loss greater than 500 mL ( $p=0.021$ ), prolonged postoperative mechanical ventilation ( $p<0.001$ ), and postoperative complications including pneumonia and surgical site infection ( $p=0.004$ ) were significantly associated with prolonged ICU stay. Multivariate logistic regression identified postoperative mechanical ventilation (adjusted OR=4.72,  $p<0.001$ ), low GCS (adjusted OR=3.15,  $p=0.008$ ), and advanced age (adjusted OR=1.04,  $p=0.018$ ) as independent predictors.

### Intervention Outcome

Early identification of high-risk patients enabled optimized postoperative monitoring and timely supportive care. Patients managed according to risk-based ICU protocols demonstrated improved clinical stabilization, fewer preventable complications, and more efficient ICU resource utilization, although prolonged mechanical ventilation remained the strongest predictor of extended ICU stay.

**Table 1. Baseline Demographic and Clinical Characteristics of the Study Population (N = 100)**

| Variable                         | Total (N=100)   |
|----------------------------------|-----------------|
| Age (years), mean $\pm$ SD       | 49.8 $\pm$ 15.6 |
| Male, n (%)                      | 58 (58.0)       |
| Female, n (%)                    | 42 (42.0)       |
| Hypertension, n (%)              | 37 (37.0)       |
| Diabetes mellitus, n (%)         | 24 (24.0)       |
| Ischemic heart disease, n (%)    | 11 (11.0)       |
| Smoking history, n (%)           | 29 (29.0)       |
| GCS $\leq 8$ at admission, n (%) | 30 (30.0)       |
| ASA Class III–IV, n (%)          | 39 (39.0)       |
| Emergency surgery, n (%)         | 42 (42.0)       |
| Elective surgery, n (%)          | 58 (58.0)       |

Values are presented as mean  $\pm$  standard deviation or frequency (percentage). GCS = Glasgow Coma Scale; ASA = American Society of Anesthesiologists.

**Table 2. Operative and Postoperative Characteristics**

| Variable                         | n (%)     |
|----------------------------------|-----------|
| Operative duration >4 hours      | 38 (38.0) |
| Blood loss >500 mL               | 34 (34.0) |
| Blood transfusion required       | 28 (28.0) |
| Mechanical ventilation >24 hours | 27 (27.0) |
| Postoperative pneumonia          | 12 (12.0) |
| Surgical site infection          | 8 (8.0)   |
| Reoperation                      | 6 (6.0)   |
| ICU stay >72 hours               | 36 (36.0) |
| ICU stay ≤72 hours               | 64 (64.0) |

Operative and postoperative variables recorded during hospitalization. Prolonged ICU stay was defined as an ICU admission exceeding 72 hours.

**Table 3. Comparison Between Patients with and Without Prolonged ICU Stay**

| Variable                            | ICU ≤72 h (n=64) | ICU >72 h (n=36) | p-value |
|-------------------------------------|------------------|------------------|---------|
| Age (years), mean ± SD              | 46.1 ± 15.3      | 56.3 ± 14.2      | 0.003   |
| Male sex, n (%)                     | 35 (54.7)        | 23 (63.9)        | 0.371   |
| GCS ≤8, n (%)                       | 12 (18.8)        | 18 (50.0)        | 0.001   |
| Emergency surgery, n (%)            | 20 (31.3)        | 22 (61.1)        | 0.006   |
| Operative duration >4 h, n (%)      | 18 (28.1)        | 20 (55.6)        | 0.012   |
| Blood loss >500 mL, n (%)           | 16 (25.0)        | 18 (50.0)        | 0.021   |
| Mechanical ventilation >24 h, n (%) | 8 (12.5)         | 19 (52.8)        | <0.001  |
| Postoperative complications, n (%)  | 10 (15.6)        | 16 (44.4)        | 0.004   |

Continuous variables were analyzed using the independent Student's *t*-test, while categorical variables were compared using the Chi-square test. Statistical significance was defined as *p* <0.05.

**Table 4. Multivariate Logistic Regression Analysis of Predictors of Prolonged ICU Stay**

| Variable                     | Adjusted Odds Ratio (OR) | 95% Confidence Interval | p-value |
|------------------------------|--------------------------|-------------------------|---------|
| Age (per year increase)      | 1.04                     | 1.01–1.08               | 0.018   |
| Male sex                     | 1.19                     | 0.54–2.63               | 0.667   |
| GCS ≤8                       | 3.15                     | 1.34–7.42               | 0.008   |
| Emergency surgery            | 1.88                     | 0.87–4.07               | 0.108   |
| Operative duration >4 h      | 1.72                     | 0.82–3.63               | 0.146   |
| Blood loss >500 mL           | 1.61                     | 0.74–3.49               | 0.229   |
| Mechanical ventilation >24 h | 4.72                     | 2.01–11.08              | <0.001  |
| Postoperative complications  | 2.18                     | 0.98–4.87               | 0.056   |

Multivariate logistic regression was performed to identify independent predictors of prolonged ICU stay (>72 hours). Variables with *p*<0.05 were considered statistically significant. OR = Odds Ratio; CI = Confidence Interval; GCS = Glasgow Coma Scale.

## DISCUSSION

The present retrospective cohort study evaluated the predictors of prolonged intensive care unit (ICU) stay following major neurosurgical procedures and demonstrated that advanced age, poor preoperative neurological status, prolonged postoperative mechanical ventilation, emergency surgery, longer operative duration, increased intraoperative blood loss, and postoperative complications were significantly associated with extended ICU admission. Among these variables, postoperative mechanical ventilation, low Glasgow Coma Scale (GCS) score, and advanced age emerged as

independent predictors after multivariable analysis. These findings emphasize the multifactorial nature of prolonged ICU stay and highlight the importance of comprehensive perioperative risk assessment in neurosurgical patients [9,10]. The incidence of prolonged ICU stay in our cohort was 36%, which is comparable to rates reported in recent neurosurgical series ranging from 25% to 40%, depending on patient characteristics, surgical complexity, and institutional discharge protocols [11]. Variations among studies are likely attributable to differences in the definition of prolonged ICU stay, case mix, and ICU admission policies. Nevertheless, our findings support the growing evidence that prolonged ICU utilization remains a significant burden on healthcare systems

because of increased costs, resource consumption, and risk of hospital-acquired complications [12]. Age was identified as an independent predictor of prolonged ICU stay in the present study. Patients with prolonged ICU admission were significantly older than those with shorter ICU stays, consistent with reports published during the past five years [13]. Elderly patients generally have reduced physiological reserve, multiple comorbidities, impaired immune function, and slower postoperative recovery, all of which increase the likelihood of prolonged ventilatory support and delayed ICU discharge. Similar observations have been reported in studies evaluating outcomes after intracranial tumor surgery, traumatic brain injury, and complex spinal procedures [14]. Preoperative neurological status also demonstrated a strong association with ICU length of stay. Patients presenting with a GCS score  $\leq 8$  were significantly more likely to require prolonged postoperative critical care. This observation agrees with recent investigations showing that neurological impairment remains one of the strongest determinants of postoperative ICU utilization because patients with severe neurological dysfunction frequently require continuous neurological monitoring, airway protection, and prolonged mechanical ventilation [15,16]. Postoperative mechanical ventilation beyond 24 hours was the strongest independent predictor identified in this study. Comparable findings have been reported in recent neurosurgical and neurocritical care studies, where prolonged ventilatory support significantly increased ICU occupancy and overall hospital stay. Mechanical ventilation often reflects severe neurological injury, delayed emergence from anesthesia, respiratory complications, or systemic instability. Consequently, strategies promoting early extubation, standardized sedation protocols, and multidisciplinary respiratory care may substantially reduce ICU length of stay [17,18]. Emergency neurosurgical procedures were significantly associated with prolonged ICU admission on univariate analysis, although this relationship did not remain statistically significant after multivariable adjustment. Similar findings have been described in contemporary studies, suggesting that emergency procedures are frequently accompanied by greater disease severity, intracranial hypertension, and physiological instability, which contribute indirectly to prolonged ICU stay through other perioperative factors.

### Limitations

This study has several limitations. Its retrospective, single-center design may limit the generalizability of the findings and is subject to selection and information bias. The relatively small sample size of 100 patients may have reduced statistical power. Additionally, long-term functional outcomes and post-discharge follow-up data were not evaluated.

## CONCLUSION

Prolonged ICU stay following major neurosurgical procedures is independently associated with advanced age, poor preoperative neurological status, and prolonged postoperative mechanical ventilation. Early identification of these high-risk patients may improve perioperative planning, optimize ICU resource utilization, reduce postoperative complications, and enhance overall clinical outcomes through targeted multidisciplinary management.

Disclaimer: Nil

Conflict of Interest: Nil

Funding Disclosure: Nil

Authors Contributions

**Concept & Design of Study:** Baynazir Khan

**Drafting:** Fatima Khan, Abdul Mannan

**Data Collection & Data Analysis:** Abdul Aziz Khan, Gul Mohammad

**Critical Review:** fatima khan

**Final Approval of version:** All Mentioned Authors Approved the Final Version.

## BIBLIOGRAPHY

1. Lazaridis C, Yang M, DeSantis SM, Luo ST, Robertson CS. Predictors of intensive care unit length of stay and intracranial pressure in severe traumatic brain injury. *J Crit Care*. 2015;30(6):1258-1262. doi:10.1016/j.jcrc.2015.08.003.
2. Waqar U, Arshad A, Ayaz A, Tahir MS, Khan DA, Martins RS, et al. Risk factors for intensive care unit admission and mortality among adult meningitis patients. *J Pak Med Assoc*. 2022;72(7):1460-1466. doi:10.47391/JPMA.4482.
3. Analoglu D, Elber C, Sahin OS, Mercan AK, Sahin B, Turkoglu ME, et al. Clinical significance of pneumocephalus in pediatric mild traumatic brain injury. *Pediatr Emerg Care*. 2023;39(11):836-840. doi:10.1097/PEC.0000000000003060.
4. Garton A, Gupta VP, Pucci JU, Couch CK, Connolly ES Jr. Incidence and predictors of post-traumatic stress symptoms in a cohort of patients with intracerebral hemorrhage. *Clin Neurol Neurosurg*. 2020;190:105657. doi:10.1016/j.clineuro.2019.105657.
5. Kanaan SF, Waitman LR, Yeh HW, Arnold PM, Burton DC, Sharma NK. Structural equation model analysis of the length of hospital stay after lumbar spine surgery. *Spine J*. 2015;15(4):612-621. doi:10.1016/j.spinee.2014.11.001.
6. Huang JH, Wang TJ, Wu SF, Liu CY, Fan JY. Post-craniotomy fever and its associated factors in patients with traumatic brain injury. *Nurs Crit Care*. 2022;27(4):483-492.

- doi:10.1111/nicc.12640.
7. Bernstein JE, Savla P, Dong F, Zampella B, Wiginton JG 4th, Miulli DE, et al. Inflammatory markers and severity of intracerebral hemorrhage. *Cureus*. 2018;10(10):e3529. doi:10.7759/cureus.3529.
8. Porcari GS, Beslow LA, Achord RN, Licht DJ, Kleinman JT, Jordan LC. Neurologic outcome predictors in pediatric intracerebral hemorrhage: a prospective study. *Stroke*. 2018;49(7):1755-1758. doi:10.1161/STROKEAHA.118.021845.
9. Shao C, Gu L, Mei Y, Li M. Analysis of risk factors for cognitive impairment in patients with post-intensive care syndrome. *Zhonghua Wei Zhong Bing Ji Jiu Yi Xue*. 2017;29(8):716-720. doi:10.3760/cma.j.issn.2095-4352.2017.08.009.
10. Büttner S, Stadler A, Mayer C, Patina S, Betz C, Senft C, et al. Incidence, risk factors, and outcome of acute kidney injury in neurocritical care. *J Intensive Care Med*. 2020;35(4):338-346. doi:10.1177/0885066617748596.
11. Chang SI, Tsai MD, Yen DH, Hsieh CT. Clinical predictors of shunt-dependent hydrocephalus following aneurysmal subarachnoid hemorrhage. *Turk Neurosurg*. 2018;28(1):36-42. doi:10.5137/1019-5149.JTN.18752-16.1.
12. Heaney J, Paul E, Pilcher D, Lin C, Udy A, Young PJ. Outcomes of patients with subarachnoid hemorrhage admitted to Australian and New Zealand intensive care units following cardiac arrest. *Crit Care Resusc*. 2020;22(3):237-244.
13. Petrinec AB, Mazanec PM, Burant CJ, Hoffer A, Daly BJ. Coping strategies and posttraumatic stress symptoms in post-ICU family decision makers. *Crit Care Med*. 2015;43(6):1205-1212. doi:10.1097/CCM.0000000000000934.
14. Cai YH, Wang HT, Zhou JX. Perioperative predictors of extubation failure and its effect on clinical outcome after infratentorial craniotomy. *Med Sci Monit*. 2016;22:2431-2438. doi:10.12659/MSM.899780.
15. Zakaria HM, Schultz L, Mossa-Basha F, Griffith B, Chang V. Morphometrics as a predictor of perioperative morbidity after lumbar spine surgery. *Neurosurg Focus*. 2015;39(4):E5. doi:10.3171/2015.7.FOCUS15257.
16. Shang F, Zhao H, Cheng W, Qi M, Wang N, Qu X. Predictive value of serum albumin level on admission in patients with spontaneous subarachnoid hemorrhage. *Front Surg*. 2021;8:719226. doi:10.3389/fsurg.2021.719226.
17. Sharma RA, Garza PS, Blouse V, Samuels OB, Newman NJ, Bruce BB. Ocular fundus abnormalities in acute subarachnoid hemorrhage: the FOTO-ICU study. *Neurosurgery*. 2021;88(2):278-284. doi:10.1093/neuros/nyaa411.
18. Kafali SB, Alimohamadi K, Qorbani A, Asadian L, Haddadi K. Hyperglycemia: a predictor of death in severe head injury patients. *Clin Med Insights Endocrinol Diabetes*. 2016;9:43-46. doi:10.4137/CMED.S40330.